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1. BEZA

(1) 2% =0l : H=2.5~3.5m
(2) ¢&8= JI=WA ¢ AFY = (2.30m x Z.0m)
(3) HeEY
- §2232E : g, = 2.50/m"
- HHER : 7= 1.90U/m°
(4) EREA
- HMB K& N NOAKE WTOIRA : § = 30°
- E2AS : Rankine EUXE |
- N 8% HEAOIY OI&AS : 4 =tan % ¢ = 0.364

(5) ATHBIE : q = 1.0/m*
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(1) BOHE & #8% S

-80S Q = 150kg/m? x G.Oﬁm = 0.450t/m
-~ USSP (RE0lE) 30kg/m x 2.00m = 0.060t/m
HE X & (H-150x75x5x7) 14.0kg/m x 2.00m/4.0m = 0.045t/m
A2 (L-40x40x5) 2.95kg/m%2.00mx 2EA/4.0m= 0.003t/m

JIEE(B_oIt & Nuts, Base plateS) 10.0kg/4.0m ' = 0.003t/m
0.111t/m
(2) ESLAHS _

- Rankine ES A4 %8
Ka = (1 — sing/1 + sing) = (1 - sin30° / 1 + sin30°) = 0.333
3) ELHH
- Ph1 = Ka-g'H = 0.333 x 1.0 x 1.0 = 0.333t/m
Ph2 = (1/2): y ‘Ka'H2 = (1/2) % 1.9 x 0.333 x 1.0 x 1.0
= 0.316t/m
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(1) ¢8= D= 15 % YJIUE &

+E i AHooa A i W (ton) X (m) ! W x -I
T 10.450 x 1.250 x 2.5 | -1.408 | 0.225 ; -0.316
@ | 1/2 % 0.450 x 0.450 ;‘é“s"" -0.253 | 0.150 ; =-0.038
3 1 0.450 x 0.700 x 2.5 ] 0.788 0.225 4’ 0.177
a | 1/2 x 0.300 x 0.300 X 2.5 |  0.113 0.550 :  0.062

ENCCET S TN TS
€ 1 550 X . 700 X 1.9 i 2.082 1.225 | 2.526

_@ "1/ % 0:300 x 6'563"; (o1 Toose | 0850 -0 03}“

o i S 2718 | 1.422 | 3.864

(2) AFLERE 78 55 ¥ SUE
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mg Casz | cma | RHUMO Hel | 2 (gt 2oE
e vt0RE | Hiton) "% (m) | y (m) v - x {g_r[;_!:l“ y (t.of
ol & HME WS008 ) LA Bl
84 8 X 868 | 0111 0450 0225 | 2:500 | 0025 1.125

£ | 0.316 0.333 0.105
uuaS % = | 2000 | 033 1000 | 0500 | 2000 0167

g | 4.607 | 1.099 E 5.389 | 1397
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(5) Ko Xi=ol CHst

HAMAX e

(8/2)—-(Mi—Mo)/V =

= 0.036m < 8/6 = 0.333m
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2.000

Quax = 2.552t/m?
Gmn = 2.055t/m?

5.8 B & E
e
Mo = 1.7 X Py + 1.3 X W
= 1.7 % (0.333 X 1.0 x 1.00° /2 + X 1.90 X 0.333 X 1.00% X 1.00 /

+ 1.3 X 0.450 x 2.200°
1.660t.m

Se = 1.7 X Py + 1.3 X Wu

= 1.7 X (0.333 X 1.0 x 1.00 +% % 1.90 X 0.333 % 1,00%)
+ 1.3 X 0.450
= 1.68%ton

(2) 71 %
- [BIGIS0 SISt Qg Al

8 B Coau | sma | BB G 2UE
. Voo | Hlton) | vox (tm) TH-y (Lm)
XE X MWE 5% | 3533 | 5.023
wWBW NE X EHE  -0144 | 0585 003 . 1483
| « 2 & 2 " oosar - 0479
| aMmsE o s L 0566  0.284
8 M ® & = 4300 - 4300
Cw 7689 1688  9.290 . 1.926

EJQ?'-’“ e = (Bole'"{Mur-Muo”v“ = [20’00!2} - {9290 L 1926} f, ?689
= 0.042m < B/6 = 0.500m o ACHEIE X
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Quax = 4.329t/m?
aun = 3.3601/m?

Qr = 4.111¢/m?
G2 = 3.966t/m?

Mo =2.i5 X 1.0 X 1.550°/2 + 1.3 x 1.90 X 0.700 % 1.550° /2 + 1.3
X 2.50 x 0.300 x 1.550° / 2 - (3.360 X 1.550° / 2 + 0.751 X 1.550% /

1.4941.m

Se =215 ¥ 1.0 X 1.250 + 1.3 X 1.90 X 0.700 x 1.250 + 1.8 x 2.50

S -0ed5t) = LER . (12 420G )

X 0.300 X 1.250 — (3.360 x 1.250 + 0.606 X 1.250 / 2)

1.48%9ton
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HEdR

-8
ek = 240 ko/od < Mu = 1.660 t.m ‘8 = 100 cm
oy= 3000 kg/ew Sy = 1.689 t d = 37 cm
o] - 0.65 ey - 0.80 d = 8 cm
USE: s = 016 @ S EA = Q80 o (C.T.C 20.00 )
s = 016 & 0 EA= 000 o (CTC - )
(Zhss 0600 o' -Z¥2 1 _ean
a8 " AsX oy/(0.85X g ckx8) . 0.147 As cm
Mu= 0BSx(Asx ayx(D-a2)
- a As? - b As + c = 0
« 187425 As? - 94350 As + 168000 = O
“As = (b-/(b? - 4xaxcH2xa) = 0
*As = 1766 om”T
 (URHUSY )
Rl (P) = AsBXD) = 00005
AW 28 Pmax) = 075X085%({0ck/oy) X (6120(6120+ ay) = 0.0342
2 W20 (Pmin) = 14/ay = 00047
(Ashin :
() 0002%xBXD = 7400 cm?
(2) 4/3 % As s 2355 o¢m?
(3) 14/oyxB*D = 17267 cm?
o714, (Asknin = 7400 om?
s { AJGRIDE ) ae ~
As = D16 @ 5 EA = 980 o
As * D € 0 €A = 0000 o
As = 9.930 ¢o’
oo ((ARNEZUE HE ) o
OMn = 085 % (Asx gy x(D-A)) QIgaINg kgoem = 9.1B4 Lm
MH2IM. A = Asx o085 ock#B) 146 c¢m
------ @Mn > My =====- s == 0K --
e MCH M 2T s
?S¢ = 08x083x¢ (ockixBXD = 2403745 kg = 24304 10
$SC> S¢  eer QK e-
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-J Z2{%® 2)

Ock = 240 koot - Mu = 1.494 L.m 8§ = 100 cm
gy = 3000 kool Sy = 1.48¢ 1 d = 20 cm
pt = 0.85 TPy - 0.80 o - 10 om

i

USE: |as = D16 @ 5 EA = 9.830 o (C.T.C 2000 )
As = DWW € 0 EA= 000 2 (C.TC - )
ZAs=  9.930 o' BHE | H@X

8 T Asxoy/(0.85% o ckxB) - 0.147  As cm

Mu = 085x(AsX ayx(D-a2))
= a As® - b As + ¢ = 0

= 187425 As? = 51000 As  + 149400 = 0

*As = (b~ /(b7 -4Xaxch2Xa) = 0
~As = 2962 om?
oo { ZQFHIBY ) am
3 3y| (F) = AsABXD) = 00015
24| (Pmax) = 0.75%0.85X{0ck/oy)x{B120R6120+ O'y) = 0.0342
HA2H 20| (Pmin) = 140y = 00047
(As)min :
(1) 0002xBxD = 4000 om?®
(2) a3 As = IM9  om*
(3} 14/oyxXBXD = 9333 cm?
Of2IM. (As)min = 4000 em?
e (AMEHDZ )
AS = D18 @ 5 BN = 9.90 en’
hs = 018 @ 0 A= 0.00 o
As = 9.930 e’

oo (QAN2ANEDE UK ) oo

PMn = Q8L x(Asx gy x{(D-N2) 4873453 kqem = 4879 Im
Ol21M, A = Asz ovll0BY % @ ck x B) 146 cm
ErAn = MU seeeesinn A - OK i

cnBIES B3 ZEG e
¢Sc = 08x053«. (acklsBrD = 1313716 ky = 13,137 1won
$SC > S¢ === QK -~
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